AN ORDINANCE 2014 - 05 - 29 - 0 367

AUTHORIZING THE FOLLOWING CONTRACTS ESTABLISHING UNIT PRICES FOR GOODS AND SERVICES FOR AN ESTIMATED ANNUAL COST OF \$3,765,000.00: (A) TOTER, LLC FOR REFUSE CONTAINERS, (B) JOHNSON CONTROLS, INC. FOR MAINTENANCE & REPAIR OF VARIOUS CHILLERS AND (C) POPPE AUTOMOTIVE WAREHOUSE FOR AUTOMOTIVE AND HEAVY EQUIPMENT FILTERS (D) DUNBAR ARMORED, INC. FOR ARMORED CAR SERVICES, (E) COOPER EQUIPMENT COMPANY FOR ETNYRE PARTS AND SERVICE, (F) KENT POWERSPORTS, LP FOR HONDA MOTOCYCLE PARTS AND SERVICE, (G) CRAWFORD SPECIALITY, LLC D/B/A LIFE CARE PAVILION PHARMACY FOR PHARMACY VOUCHER PROGRAM, AND (H) HIGH SIERRA ELECTRONIC, INC. FOR AUTOMATED FLOOD WARNING SYSTEMS PARTS.

* * * * *

WHEREAS, the City is able to obtain significant savings by purchasing various materials and services on an annual contract basis; and

WHEREAS, these bids are from the following companies to furnish the City with: (A) Toter, LLC for refuse containers, (B) Johnson Controls, Inc. for maintenance & repair of various chillers (alternate bid), (C) Poppe Automotive Warehouse for automotive and heavy equipment filters, (D) Dunbar Armored, Inc. for armored car services, (E) Cooper Equipment Company for Etnyre parts and service, (F) Kent Powersports, LP for Honda motocycle parts and service, (G) Crawford Speciality, LLC D/B/A Life Care Pavilion Pharmacy for pharmacy voucher program, and (H) High Sierra Electronic, Inc. for automated flood warning systems parts.

WHEREAS, this ordinance approves one contract procured utilizing cooperative purchasing, one contract awarded to other than the low bidder(s) because the low bidder(s) did not meet the City's specifications or requirements, and one contract which provides for a procurement necessary to protect the public health or safety; and

WHEREAS, all expenditures will be in accordance with the applicable fiscal year's budget approved by City Council; **NOW THEREFORE**:

BE IT ORDAINED BY THE CITY COUNCIL OF THE CITY OF SAN ANTONIO:

SECTION 1. The bids of the following companies to furnish the City with: (A) Toter, LLC for refuse containers, (B) Johnson Controls, Inc. for maintenance & repair of various chillers (alternate bid), (C) Poppe Automotive Warehouse for automotive and heavy equipment filters, (D) Dunbar Armored, Inc. for armored car services, (E) Cooper Equipment Company for Etnyre parts and service, (F) Kent Powersports, LP for Honda motocycle parts and service, (G) Crawford Speciality, LLC D/B/A Life Care Pavilion Pharmacy for pharmacy voucher program, and (H) High Sierra Electronic, Inc. for automated flood warning systems parts, on an annual contract basis as shown on the attached bid tabulation sheets, are hereby accepted, subject to and

LOC/jlm 5/29/14 Item No. 9

contingent upon the deposit of all required bonds, performance deposits, insurance certificates and endorsements. The bid tabulation sheets are attached hereto and incorporated herein for all purposes as **Exhibit I**. Copies of the bids are available for inspection in the offices of the Purchasing Division of the Finance Department.

SECTION 2. The amounts will be encumbered upon issuance of various purchase orders, and payment is authorized to the vendors identified herein. All current fiscal year expenditures will be in accordance with the Fiscal Year 2014 budget approved by City Council, and future fiscal year expenditures are contingent upon future City council budget approvals.

SECTION 3. It has been found and declared that the low bids from and Air Jireh AC Plumping Specialist and TDI Industries for maintenance and repair of various chillers failed to meet the City's specifications and/or requirements.

SECTION 4. This ordinance is effective immediately upon passage by eight affirmative votes; otherwise it is effective on the tenth day after passage hereof.

PASSED and APPROVED this 29th day of May, 2014.

M A Y O R
Julián Castro

ATTEST:

APPROVED AS TO FORM:

Agenda Item:	9							
Date:	05/29/2014	5/29/2014						
Time:	11:36:26 AM							
Vote Type:	Motion to Approv	e						
Description:	An Ordinance authorizing the following contracts establishing unit prices for goods and services for an estimated annual cost of \$3,765,000.00: (A) Toter, LLC for refuse containers, (B) Johnson Controls, Inc. for maintenance & repair of various chillers, (C) Poppe Automotive Warehouse for automotive & heavy equipment filters, (D) Dunbar Armored, Inc. for armored car services, (E) Cooper Equipment Company for Etnyre parts and service, (F) Kent Powersports, LP for Honda motorcycle parts and service, (G) Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmacy for pharmacy voucher program, and (H) High Sierra Electronic, Inc. for automated flood warning systems parts. [Ben Gorzell, Chief Financial Officer; Troy Elliott, Director, Finance]							
Result:	Passed							
Voter	Group	Not Present	Yea	Nay	Abstain	Motion	Second	
Julián Castro	Mayor		х					
Diego Bernal	District 1		х					
Ivy R. Taylor	District 2		х					
Rebecca Viagran	District 3		х					
Rey Saldaña	District 4		х				х	
Shirley Gonzales	District 5		х					
Ray Lopez	District 6		х					
Cris Medina	District 7		x					
Ron Nirenberg	District 8		х					
Joe Krier	District 9		х					
Michael Gallagher	District 10		х			х		

Opened:	March 7, 2014		Non-Loca	d
or:	Refuse Containers		Toter, LLC	
6100003633		JF	841 Meacham Road	
		Estimated	Statesville,	
ltem	Description	Annual	NC 28677	
	000 0 11 51/5 11 0 11 1 1 1 70000	Quantity	800-424-0422 Ext. 257	
1	96 Gallon EVR II Container Model 79296 (base)	15,000		
	Price each			\$48.35
	Price total			\$725,250.00
				, ,
	Specified body color	15,000		
	Body Brown Stone Color	,		¢1 00
	Price each Price total			\$1.00 \$15,000.00
	Frice total			Ψ10,000.00
	Body hot stamp on left side only in white	15,000		
	Price each			\$0.25
	Price total			\$3,750.00
	Ultra high frequency RIFD tag (factory installed)	15,000		
	Price each			\$0.70
	Price total		·	\$10,500.00
	Assembly - fully assembled	15,000		
	Price each	15,000		\$1.50
	Price total			\$22,500.00
2	96 Gallon EVR II Container Model 79296	5,000		
	(base) Price each			\$48.35
	Price total			\$241,750.00
				, ,
	Specified body color	5,000		
	Body Blue Stone Color Price each	,		\$1.00
	Price total			\$5,000.00
	The total			ψο,σσσ.σσ
	Body hot stamp on left side only in white	5,000		•
	Price each			\$0.25
	Price total			\$1,250.00
	Ultra high frequency RIFD tag (factory installed)	5,000		
	Price each			\$0.70
	Price total			\$3,500.00
	Assembly - fully assembled	5,000		
	Price each	0,000		\$1.50
	Price total			\$7,500.00
	OS Callan EVB II Container Madel 70000			
3	96 Gallon EVR II Container Model 79296	35,000		
	(base) Price each			\$48.35
	Price total			\$1,692,250.00

Opened:	March 7, 2014		Non-Local
For:	Refuse Containers		Toter, LLC
6100003633		JF	841 Meacham Road
		Estimated	Statesville,
Item	Description	Annual	NC 28677
	·	Quantity	800-424-0422 Ext. 257
	Specified body color		
	Body Green Color	35,000	
	Price each		\$1.00
	Price total		\$35,000.00
	Body hot stamp on left side only in white	35,000	
	Price each	33,000	\$0.25
}	Price total		\$8,750.00
	l nec total		ψο, του. σο
		35,000	
	Ultra high frequency RIFD tag (factory installed)	,	20.70
	Price each		\$0.70
	Price total		\$24,500.00
	Assembly - fully assembled	35,000	
	Price each		\$1.50
	Price total		\$52,500.00
4	Freight per cart	55,000	
[Price each	00,000	\$1.74
	Price total		\$95,700.00
	Dellinen		
	Delivery		30-45 Days
	Payment Terms		Net 30
	Estimated Annual Total		\$2,944,700.00
	Estimated Annual Award		\$2,944,700.00

Opened:	January 3, 2014		Alternate Bid					
For:	Maintenance & Repair of Various Chillers		Non-Local	Local	Non-Local	Non-Local	Local	Non-Local
			Johnson Controls, Inc.	Air Jireh AC Plumbing	Johnson Controls, Inc.	Mechanical Technical	TDIndustries	Trane US Inc.
				Specialist		Services, Inc. dba Mtech		
6100003652		JM	3660 Thousand Oaks	5122 Leonhardt	3660 Thousand Oaks	17305 IH 35 North.	12700 O'Connor Rd.	0505 0 0 0 0
Item	Description	Estimated Annual Quantity	Dr., Ste. 216 San Antonio, TX 78247 210-524-7076	San Antonio, TX 78233	Dr., Ste. 216	Ste. 105 Schertz, TX 78154	San Antonio, TX 78233	9535 Bay St., Suite 1100 San Antonio, TX 78217
ĺ				NAS			NAS	
1 1a	Preventative Maintenance Trane Preventative Maintenance							
1	City Hall	2						
ĺ	Price Per Unit		\$850.00	\$980.00	\$5,650.00	\$1,810.00	\$900.00	\$1,995.00
1	Total Price		\$1,700.00	\$1,960.00	\$11,300.00	\$3,620.00	\$1,800.00	\$3,990.00
	Farmer's Market N.W. Unit	1						
	Price Per Unit		\$850.00		\$5,650.00	\$1,810.00	\$900.00	\$1,094.00
	Total Price		\$850.00	\$980.00	\$5,650.00	\$1,810.00	\$900.00	\$1,094.00
	Farmer's Market S.W. Unit	1						
1	Price Per Unit	ŀ	\$850.00					
	Total Price		\$850.00	\$980.00	\$5,650.00	\$1,810.00	\$900.00	\$1,094.00
l	Fire Training Academy	1						
	Price Per Unit		\$850.00		* * * * * * * * * * * * * * * * * * * *			
	Total Price		\$850.00	\$980.00	\$5,650.00	\$1,810.00	\$900.00	\$997.00
	One-Stop DBSC	1						
	Price Per Unit		\$850.00					
	Total Price		\$850.00	\$980.00	\$5,650.00	\$2,600.00	\$1,200.00	\$1,192.00
	PSTC	2						
i	Price Per Unit		\$850.00			, ,		
	Total Price		\$1,700.00	\$1,960.00	\$11,300.00	\$3,620.00	\$1,800.00	\$3,990.00
	Frank Garrett	1						
ĺ	Price Per Unit	1	\$585.00				1 ' '	
	Total Price		\$585.00	\$980.00	\$5,385.00	\$1,810.00	\$2,430.00	\$997.00
	Item 1a Subtotal:		\$7,385.00	\$8,820.00	\$50,585.00	\$17,080.00	\$9,930.00	\$13,354.00

Opened:	January 3, 2014		Alternate Bid					
For:	Maintenance & Repair of Various Chillers		Non-Local	Local	Non-Local	Non-Local	Local	Non-Local
	•		Johnson Controls, Inc.	Air Jireh AC Plumbing	Johnson Controls, Inc.	Mechanical Technical	TDIndustries	Trane US Inc.
6100003652		JM.		Specialist		Services, Inc. dba Mtech		
0.0000000		OW .	3660 Thousand Oaks	5122 Leonhardt	3660 Thousand Oaks	17305 IH 35 North,	12700 O'Connor Rd.	9535 Bay St., Suite
		Estimated	Dr., Ste. 216	San Antonio, TX	Dr., Ste. 216	Ste. 105	San Antonio, TX	1100
Item	Description	Annual	San Antonio, TX	78233	San Antonio, TX	Schertz, TX	78233	San Antonio, TX
		Quantity	78247 210-524-7076		78247	78154		78217
								-
1b	York Preventative Maintenance							
	EOC	2						
	Price Per Unit	2	\$900.00	\$980.00	\$5,700.00	\$2,155.00	\$900.00	\$7,616.00
	Total Price		\$1,800.00					
ĺ		ſ		, ,,,,,,,,	[(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1
	Municipal Courts	2						
	Price Per Unit Total Price	1	\$2,160.00					
	Total File		\$4,320.00	\$1,960.00	\$13,920.00	\$4,860.00	\$3,000.00	\$25,160.00
ł	PSAP	2						
	Price Per Unit		\$1,200.00		\$6,000.00	\$3,205.00	\$2,400.00	\$7,616.00
	Total Price	- }	\$2,400.00	\$1,960.00	\$12,000.00	\$6,410.00	\$4,800.00	\$15,232.00
	PSHQ	2						
	Price Per Unit		\$4,470.00	\$980.00	\$4,470.00	\$5,791.00	\$3,300.00	\$14,475.00
	Total Price		\$8,940.00	\$1,960.00				
			1			,		
	Municipal Plaza Building	2						
	Price Per Unit Total Price		\$2,160.00		1			
	Total Filce		\$4,320.00	\$1,960.00	\$13,920.00	\$5,262.00	\$3,000.00	\$18,064.00
	Item 1b Subtotal:		\$21,780.00	\$9,800.00	\$60,180.00	\$32,424.00	\$19,200.00	\$102,638.00
2	Hourly Rate							
	Normal Hours	72						
	Mechanic	'-	\$76.00	\$90.00	\$76.00	\$75.00	\$75.00	\$133.00
	Mechanic - Helper	ì	\$60.00	\$55.00	\$60.00	\$30.00		
	A November of			05.000.00				
	Average - Normal Hours		\$4,896.00	\$5,220.00	\$4,896.00	\$3,780.00	\$5,400.00	\$7,992.00
	Overtime Hours	48	1					
	Mechanic		\$105.00	\$135.00	\$105.00	\$112.50	\$112.50	\$200.00
	Mechanic - Helper		\$95.00	\$82.50	\$95.00	\$90.00	\$112.50	\$133.00
	Average Overtime House	}	£4,000,00	# F 000 00				
	Average - Overtime Hours		\$4,800.00	\$5,220.00	\$4,800.00	\$4,860.00	\$5,400.00	\$7,992.00
	Item 2 Subtotal:		\$9,696.00	\$10,440.00	\$9,696.00	\$8,640.00	\$10,800.00	\$15,984.00
3	DELETED			1				
4	DELETED							
,	1]	<u>J</u>]	J]	
	Subtotal		\$38,861.00			\$58,144.00	\$39,930.00	\$131,976.00
	Payment Terms		Net 30	Net 30	Net 30	Net 30	Net 30	Net 30
	Estimated Annual Total		\$38,861.00	\$29,060.00	\$120,461.00	\$58,144.00	\$39,930.00	\$131.076.00
	Estimated Annual Award		\$38,861.00	Ψ23,000.00	Ψ120,401.00	φυο, 144.00	\$39,930.00	\$131,976.00

Deleted: Items 3 & 4 will be re-bid at a later date

Opened:	April 16, 2014	Local	Local	Local	Local	Local, NAS
For:	Automotive & Heavy Equipment Filters	Poppe Automotive	Doggett Freightliner	Genuine Parts	O'Reilly Automotive	Straus-Frank
	, , ,	Warehouse	of South Texas	Company	Stores	Enterprises LLC dba
				, ,		Carquest Auto Parts
3100004177	I M	716 S. Frio Street	8700 IH-10 E	6374 Rittiman Road	222 S. Dattaraan	328 W. Peden
7100004177	LIVI	San Antonio,			233 S. Pallerson	326 W. Peden
14	Description	TX 78207	Converse,	San Antonio,	Springfield,	San Antonio,
Item 1A	Description AUTOMOTIVE & LIGHT DUTY FUEL	210-410-2192	TX 78109	TX 78218	MO 65802	TX 78204
IA	FILTERS					
а	Percent of Discount Offered	62.20%	64.00%	61.00%	40.00%	66.00%
b	Products Identification (Manufacturer)	Wix Filters	Luber Finer	Wix	Wix	Wi:
С	Type of Price Schedule (dealer, jobber, etc)	Jobbei		Jobber	Jobber	Retail Lis
d	Price Schedule Number	WIX0512	LFPS US 010114	RPT086	Wix-All	USC 96
е	Date of price Schedule	5/7/2012	1/1/2014	2014	2/17/2014	9/1/201
f	Price Schedule Column on Which Discount is					
	Based (i.e. distributor, net, wholesale, etc)	Jobber		Jobber	Jobber	[P:
g	Warranty	Limited Warranty during	`B			Manufacturer'
		period of service life				Warranty to b
		recommended by the engine	I)	Limited Lifetime		passed through t
		or equipment manufacture	1 Year	Warranty	1 Year	cit
2A	AUTOMOTIVE & LIGHT DUTY AIR FILTERS					
а	Percent of Discount Offered	62.20%	64.00%	61.00%	40.00%	66.00%
b	Products Identification (Manufacturer)	Wix Filters	Luber Finer	Wix	Wix	Wi
С	Type of Price Schedule (dealer, jobber, etc)	Jobber		Jobber	Jobber	Retail Lis
d	Price Schedule Number	WIX0512	LFPS US 010114	RPT086		
е	Date of price Schedule	5/7/2012	1/1/2014	2014	2/17/2014	9/1/201
f	Price Schedule Column on Which Discount is					İ
	Based (i.e. distributor, net, wholesale, etc)	Jobbei		Jobber	Jobber	P
g	Warranty	Limited Warranty during	' II		1	Manufacturer'
		period of service life				Warranty to be
		recommended by the engine		Limited Lifetime		passed through t
		or equipment manufacture	1 Year	Warranty	1 Year	cit
3A	AUTOMOTIVE & LIGHT DUTY OIL FILTERS					
а	Percent of Discount Offered	62.20%	64.00%	61.00%	40.00%	66.00%
b	Products Identification (Manufacturer)	Wix Filters	Luber Finer	Wix	Wix	Wi
С	Type of Price Schedule (dealer, jobber, etc)	Jobbe		Jobber	Jobber	Retail Lis
d	Price Schedule Number	WIX0512		RPT086	Wix-All	USC 9
е	Date of price Schedule	5/7/2012		2014	2/17/2014	9/1/201
f	Price Schedule Column on Which Discount is				1	1
	Based (i.e. distributor, net, wholesale, etc)	Jobbe		Jobber	Jobber	P
g	Warranty	Limited Warranty during				Manufacturer'
•		period of service life	:			Warranty to b
		recommended by the engine		Limited Lifetime		passed through to
		or equipment manufactures	1 Year	Warranty	1 Year	

Opened:	April 16, 2014	Local	Local	Local	Local	Local, NAS
For:	Automotive & Heavy Equipment Filters	Poppe Automotive	Doggett Freightliner	Genuine Parts	O'Reilly Automotive	Straus-Frank
		Warehouse	of South Texas	Company	Stores	Enterprises LLC dba
						Carquest Auto Parts
6100004177	I M	716 S. Frio Street	8700 IH-10 E	6374 Rittiman Road	233 S. Patterson	328 W. Peden
0100004177	LIVI	San Antonio,	0700 IN-10 E	03/4 Killiman Koau	233 S. Fallerson	320 W. Federi
		TX 78207	Converse,	San Antonio,	Springfield,	San Antonio,
ltem	Description	210-410-2192	TX 78109	TX 78218	MO 65802	TX 78204
4A	AUTOMOTIVE & LIGHT DUTY					
	TRANSMISSION FILTERS					_
a	Percent of Discount Offered	62.20%			40.00%	66.00%
b	Products Identification (Manufacturer)	Wix Filters		ATP	Wix	Wix
C	Type of Price Schedule (dealer, jobber, etc)	Jobber			Jobber	Retail List
d	Price Schedule Number	WIX0512			Wix-All	
е	Date of price Schedule	5/7/2012	1/1/2014	2014	2/17/2014	9/1/2013
f	Price Schedule Column on Which Discount is					
	Based (i.e. distributor, net, wholesale, etc)	Jobber		Jobber	Jobber	P3
g	Warranty	Limited Warranty during		•		Manufacturer's
		period of service life				Warranty to be
		recommended by the engine		12 Months, 12,000		passed through to
		or equipment manufacturer	1 Year	miles	1 Year	city
5A	HEAVY DUTY COOLANT FILTERS					
a	Percent of Discount Offered	62.20%	64.00%	61.00%	40.00%	66.00%
Ď	Products Identification (Manufacturer)	Wix Filters		1	Wix	Wix
c	Type of Price Schedule (dealer, jobber, etc)	Jobber		1	Jobber	Retail List
ď	Price Schedule Number	WIX0512			Wix-All	
e	Date of price Schedule	5/7/2012			2/17/2014	9/1/2013
f	Price Schedule Column on Which Discount is					0/ 1/2010
•	Based (i.e. distributor, net, wholesale, etc)	Jobber	Jobber	Jobber	Jobber	P3
g	Warranty	Limited Warranty during			00000	Manufacturer's
9	, value, y	period of service life		}		Warranty to be
		recommended by the engine		Limited Lifetime		passed through to
		or equipment manufacturer	1 Year	Warranty	1 Year	city
				,		,
6A	HEAVY DUTY FUEL FILTERS					
а	Percent of Discount Offered	62.20%	11		40.00%	66.00%
b	Products Identification (Manufacturer)	Wix Filters			Wix	Wix
С	Type of Price Schedule (dealer, jobber, etc)	Jobber			Jobber	Retail List
d	Price Schedule Number	WIX0512		_	Wix-All	
е	Date of price Schedule	5/7/2012	1/1/2014	2014	2/17/2014	9/1/2013
f	Price Schedule Column on Which Discount is					
	Based (i.e. distributor, net, wholesale, etc)	Jobber		Jobber	Jobber	P3
g	Warranty	Limited Warranty during				Manufacturer's
		period of service life				Warranty to be
	1	recommended by the engine	11	Limited Lifetime	1	passed through to
		or equipment manufacturer	1 Year	Warranty	1 Year	city
	<u></u>		<u> </u>			

Opened:	April 16, 2014	Local	Local	Local	Local	Local, NAS
For:	Automotive & Heavy Equipment Filters		,	Genuine Parts	O'Reilly Automotive	Straus-Frank
		Warehouse	of South Texas	Company	Stores	Enterprises LLC dba
						Carquest Auto Parts
6100004177	1 M	716 S. Frio Street	8700 IH-10 E	6374 Rittiman Road	233 S. Datterson	328 W. Peden
0100,00 1117		San Antonio,	0700 #1-10 E	0074 Killinan Koad		326 W. Feden
_		TX 78207	Converse,	San Antonio,	Springfield,	San Antonio,
ltem	Description	210-410-2192	TX 78109	TX 78218	MO 65802	TX 78204
7A	HEAVY DUTY AIR FILTERS					
a	Percent of Discount Offered	62.20%	M .	61.00%		66.00%
b	Products Identification (Manufacturer)	Wix Filters	Luber Finer	Wix	1	Wix
C	Type of Price Schedule (dealer, jobber, etc)	Jobber	Jobber	Jobber		Retail List
d	Price Schedule Number Date of price Schedule	WIX0512	LFPS US 010114	RPT086	1	USC 90
e f	Price Schedule Column on Which Discount is	5/7/2012	1/1/2014	2014	2/17/2014	9/1/2013
1	Based (i.e. distributor, net, wholesale, etc)	Jobber	Jobber	Jobber	Jobber	P3
g	Warranty	Limited Warranty during		Jobber	Jobber	Manufacturer's
9	**arranty	period of service life				Warranty to be
		recommended by the engine		Limited Lifetime		passed through to
		or equipment manufacturer		Warranty		city
					, , , ,	Sity
8A	HEAVY DUTY OIL FILTERS					
а	Percent of Discount Offered	62.20%	64.00%	61.00%	40.00%	66.00%
b	Products Identification (Manufacturer)	Wix Filters	Luber Finer	Wix	Wix	Wix
С	Type of Price Schedule (dealer, jobber, etc)	Jobber		Jobber	Jobber	Retail List
d	Price Schedule Number	WIX0512	LFPS US 010114	RPT086	Wix-All	USC 90
е	Date of price Schedule	5/7/2012	1/1/2014	2014	2/17/2014	9/1/2013
f	Price Schedule Column on Which Discount is					
	Based (i.e. distributor, net, wholesale, etc)	Jobber Limited Warranty during	Jobber	Jobber	Jobber	P3
9	Warranty	period of service life				Manufacturer's
,		recommended by the engine		Limited Lifetime		Warranty to be
		or equipment manufacturer	1	Warranty		passed through to
		or equipment mandracturer	, icai	vvarianty	i i eai	city
9A	HEAVY DUTY OIL FILTER GASKET O-					
	RINGS					
а	Percent of Discount Offered	62.20%	64.00%	61.00%	40.00%	66.00%
b	Products Identification (Manufacturer)	Wix Filters	Luber Finer	Wix	Wix	Wix
С	Type of Price Schedule (dealer, jobber, etc)	Jobber	Jobber	Jobber	Jobber	Retail List
d	Price Schedule Number	WIX0512	LFPS US 010114	RPT086	Wix-All	USC 90
е	Date of price Schedule	5/7/2012	1/1/2014	2014	2/17/2014	9/1/2013
f	Price Schedule Column on Which Discount is					
1	Based (i.e. distributor, net, wholesale, etc)	Jobber	Jobber	Jobber	Jobber	P3
g	Warranty	Limited Warranty during				Manufacturer's
1		period of service life		Limite of Life of the		Warranty to be
		recommended by the engine or equipment manufacturer	1 Year	Limited Lifetime Warrantv	1 Year	passed through to
	I					l cityl

Opened:	April 16, 2014	Local	Local	Local	Local	Local, NAS
For:	Automotive & Heavy Equipment Filters	Poppe Automotive	Doggett Freightliner	Genuine Parts	O'Reilly Automotive	Straus-Frank
		Warehouse	of South Texas	Company	Stores	Enterprises LLC dba
						Carquest Auto Parts
6100004177	LM	716 S. Frio Street	8700 IH-10 E	6374 Rittiman Road	233 S. Patterson	328 W. Peden
		San Antonio,				
		TX 78207	Converse,	San Antonio,	Springfield,	San Antonio,
Item	Description	210-410-2192	_TX 78109	TX 78218	MO 65802	TX 78204
10A	HEAVY DUTY OIL FILTER GASKET O-					
	RINGS					
a	Percent of Discount Offered	62.20%	64.00%			66.00%
b	Products Identification (Manufacturer)	Wix Filters		B .		Wix
С	Type of Price Schedule (dealer, jobber, etc)	Jobbe				Retail List
d	Price Schedule Number	WIX0512				
е	Date of price Schedule	5/7/2012	1/1/2014	2014	2/17/2014	9/1/2013
f	Price Schedule Column on Which Discount is					
	Based (i.e. distributor, net, wholesale, etc)	Jobbe		Jobber	Jobber	P3
9	Warranty	Limited Warranty during	111			Manufacturer's
		period of service life		Limited Lifetime		Warranty to be passed through to
		recommended by the engine			į.	,
		or equipment manufacture	i rear	vvarranty	i rear	city
	Delivery	1 Day	1 Day	I Dav	1 Day	1 Day
	Samuel,		'	7:30AM-7PM, 6		
	Business Hours	8AM-6PM, 5 Days Per Weel	7AM-10PM	1	1	
	Payment Terms	Net 30	Net 30	2%, 10 Days	2%, 10 Days	2%, 10 Days
				1		'

opened:	March 19, 2014		
or:	Armored Car Services		Non-Local Dunbar Armored Inc
100004023		JG	50 Schilling Rd
Item	Site Location	Estimated Annual Quantity	Hunt Valley, MD 21031 410-229-1906
1	Public Safety Headquarters: Same-Day Price Per Trip Total Price	260	\$22.26 \$5,787.60
2	Vital Records Division: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
3	Passport Division: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
4	Office of the City Clerk: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
5	Metropolitan Health District: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
6	Bitters Brush Scale House: Next-Day Price Per Trip Total Price	364	\$19.08 \$6,945.12
7	Nelson Gardens Scale House: Next-Day Price Per Trip Total Price	364	\$19.08 \$6,945.12
8	Riverview Tower Building, Finance Department: Same-Day Price Per Trip Total Price	260	\$22.26 \$5,787.60
9	Development & Business Service Center: Same-Day Price Per Trip Total Price	260	\$22.26 \$5,787.60
10	Parking Division: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
11	San Antonio International Airport Accounting Office - Airport Blvd: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
12	San Antonio International Airport Accounting Office - Sandau Rd: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
13	Municipal Courts Accounting Office: Same-Day Price Per Trip Total Price	260	\$22.26 \$5,787.60
14	Municipal Court Valley View: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
15	City Design Center: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
16	SWMD Fiscal Office: Next-Day Price Per Trip Total Price	260	\$16.43 \$4,271.80
17	Branch Libraries: Next-Day Price Per Trip Total Price	1,300	\$21.20 \$27,560.00
18	San Antonio Visitor Information Center: Next-Day Price Per Trip Total Price	104	\$21.20 \$2,204.80
19	Animal Care Services Admin. Building: Next-Day Price Per Trip Total Price	208	\$18.0 <u>2</u> \$3,748.16
20	Carver Community Cultural Center: Next-Day Price Per Trip Total Price	52	\$21.20 \$1,102.40

Opened:	March 19, 2014		
For:	Armored Car Services		Non-Local
610000402	3	JG	Dunbar Armored, Inc. 50 Schilling Rd
Item	Site Location	Estimated Annual Quantity	Hunt Valley, MD 21031 410-229-1906
21	McFarlin Tennis Center: Next-Day Price Per Trip Total Price	52	\$21.20 \$1,102.40
22	Alamodome Administration Office: Same-Day Price Per Trip Total Price	104	\$22.26 \$2,315.04
23	Convention Facilities Fiscal Operations: Same-Day Price Per Trip Total Price	104	\$22.26 \$2,315.04
24	Ron Darner Facility: Next-Day Price Per Trip Total Price	104	\$21.20 \$2,204.80
25	Spanish Governor's Palace: Next-Day Price Per Trip Total Price	52	\$21.20 \$1,102.40
26	La Villita: Next-Day Price Per Trip Total Price	52	\$21.20 \$1,102.40
27	Market Square: Next-Day Price Per Trip Total Price	52	\$21.20 \$1,102.40
28	Pre-K 4 SA Locations: Next-Day Price Per Trip Total Price	104	\$21.20 \$2,204.80
29	Police Property & Evidence Storage Office: Next-Day Price Per Trip Total Price	105	\$26.50 \$2,782.50
30	Lila Cockrell Theatre Box Office: Next-Day Price Per Trip Total Price	12	\$26.50 \$318.00
31	Natatorium: Next-Day Price Per Trip Total Price	52	\$16.43 \$854.36
32	Additional Trip to any location listed above: Next-Day Price Per Trip Total Price	108	\$35.00 \$3,780.00
	Payment Terms		Net 30
	Estimated Annual Total Estimated Annual Award		\$135,558.14 \$135,558.14

Opened:	April 23, 2014		Local
For:	Etnyre Parts and Service		Copper Equipment Ld.
6100003982		MM	17474 Judson Road
		Estimated	San Antonio,
lán	Pagariation	Annual	TX 78239 1210-657-5151
Item	Description	Quantity	210-657-5151
1			0.000
a	Percent of Discount Offered		0.00%
b	Products Identification (Manufacturer)		Etnyre
C	Type of Price Schedule (dealer, jobber, etc)		Deale
d	Price Schedule Number		C-2013
е	Date of price Schedule		10/1/2013
f	Price Schedule Column on Which Discount is		List + 8%
	Based (i.e. distributor, net, wholesale, etc)		
2A	LABOR AND SERVICE		
A	Labor and Service Rate	PER HR	\$105.00
В	Expedited/Overtime Labor and Service Rate	PER HR	\$157.50
	Payment Terms		Net 30

Opened:	April 11, 2014		
	Honda Motorcycle Parts and Service	Non-Local Kent Powersports, LP	
6100004286 Item	Description	LM Estimated Annual Quantity	15664 IH35 N Selma, TX 78154 210-655-2625
1A	HONDA MOTORCYCLE PARTS A. Percent of discount offered B. Product Identification (Manufacturer) C. Type of price schedule (dealer, iobber, etc.) D. Price Schedule Number E. Date of Price Schedule F. Price schedule column on which discount is based (i.e., distributor, net, wholesale, etc.) G. Warranty Miscellaneous Motorcycle Parts Price Total		10% Honda Retail APRIL 2014 APRIL 2014 Retail 6 months (see attached) \$19.663.51
1B 1	Specified Items: Pad Sets 06435-MCA-016 Manufacturer Name Product No Price Each Discount Price Each with Discount Extended Price	20	Honda Pad Set 06435-MCA-016 \$52.87 10% 47.58 \$951.66
2	Pad Sets 06455-MCA-016 Manufacturer Name Product No Price Each Discount Price Each with Discount Extended Price	20	Honda Pad Set 06455-MCA-016 \$52.13 10% \$46.92 \$938.34
3	Disk Brakes 43250-MCA-013 Manufacturer Name Product No Price Each Discount Price Each with Discount Extended Price	5	Honda Brake Disc 43250-MCA-013 \$589.11 10% \$530.2 \$2,651.00
4	Valve Stems 292299 (1 pack of 6) Manufacturer Name Product No Price Each Discount Price Each with Discount Extended Price	1	K&L Valve Stems 292299 \$28.69 10% \$25.82 \$25.82
5	Bulbs 34901-MAT-611 Manufacturer Name Product No Price Each Discount Price Each with Discount Extended Price	10	Honda Bulbs 34901-MAT-611 \$21.76 10% \$19.58 \$195.84
6	Sensors 39411-MCA-R32 Manufacturer Name Rroduct No Price Each Discount Price Each with Discount Extended Price	5	Honda Sensors 39411-MCA-R32 \$205.71 10% \$185.1 \$925.70
7	Deleted		
8	Switch Assembly 35200-MCA-S81 Manufacturer Name Product No Price Each Discount Price Each with Discount Extended Price	5	Honda Switch Assembly 35200-MCA-S81 \$542.05 10% \$487.85 \$2.439.23
9	Grommet Set 417410 Manufacturer Name Product No Price Each Discount Price Each with Discount Extended Price	3	Showchrome Grommet Set 417410 \$4.95 10% \$4.46 \$13.37
10	Rubber, Maid Step 50661-MCA-305 Manufacturer Name Product No Price Each	5	Honda Rubber, Maid Step 50661-MCA-305 S11.42

Opened:	April 11, 2014]
	Honda Motorcycle Parts and Service	Non-Local	
6100004286		LM	Kent Powersports, LP
Item	Description	Estimated Annual Quantity	15664 IH35 N Selma, TX 78154 210-655-2625
	Discount Price Each with Discount		10% \$10.28
	Extended Price		\$10.28 \$51.39
11	Seals, Windshield 64121-MCA-000	5	
	Manufacturer Name Product No		Honda Windshield Seal 64121-MCA-000
	Price Each		\$27.04
	Discount Price Each with Discount		10% \$24.34
	Extended Price		\$121.68
12	Seal Set 51490-MCA-A61	5	
	Manufacturer Name Product No		Honda Seal Set 51490-MCA-A61
	Price Each Discount		\$26.56
	Price Each with Discount		10% \$23.90
	Extended Price		\$119.52
13	Fluid 08208-0010 Manufacturer Name	5	
	Product No		Honda Fluid 08208-0010
	Price Each Discount		\$6.39 10%
	Price Each with Discount		\$5.75
	Extended Price		\$28.76
2	Periodic Maintenance Cost Per Service Type Below: Category I Maintenance Schedule	25	
_	Price Each	25	\$216.67
	Price Total		\$5,416.75
3	Category II Maintenance Schedule	20	
	Price Each Price Total		\$320.57 \$6,411.40
	Cotano III Maintenana Cotanda II	20	
4	Category III Maintenance Schedule Price Each	20	\$453.89
	Price Total		\$9,077.80
5	Category IV Maintenance Schedule	5	4-00-00
	Price Each Price Total		\$562.22 \$2,811.10
6	 New Front Tire (Removal-Install-Balance)	20	
Ů	Price Each	20	\$259.65
	Price Total		\$5,193.00
7	New Rear Tire (Removal-Install-Balance) Price Each	35	\$300.47
	Price Total		\$10,516.45
8	Battery Replacement	10	
	Price Each Price Total		\$170.77 \$1,707.70
	Labor rate for service	400	
9	Price Each	120	\$89.50
	Price Total		\$10,740.00
	Business hours are from 9 A.M. to 7 P.M. 5 days per week		
	Re-stocking orders are placed every 5 days on Tuesday		
	Prompt Payment Discount		5%, 20 days
	Delivery		7 days if parts available
	Business hours are from		9 am to 7 pm 5 days per week
	Re-stocking orders are placed every		5 days on Tuesday
	Estimated Annual Total		\$80,000.00
	Estimated Annual Award		\$80,000.00

Opened: For:	March 31, 2014 Pharmacy Voucher Program		Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmacy	
6100004052		LM	315 N. San Saba San Antonio,	
ltem	Description	Quantity	TX 78207	
			210-212-7455	
1	Prescription Drug Medications *HYDROXYZ HCL 10MG Price Each Price Total	40	\$0.10 \$4.02	
	*OMEGA-3 FISH 1000MG Price Each	150	\$0.15	
	Price Total *POT CL MICRO 10MEQ ER Price Each	60	\$22.55 \$0.48	
	Price Total		\$28.61	
	ABREVA CRE 10% Price Each Price Total	2	\$20.14 \$40.28	
	ACCU-CHEK TES AVIVA PL Price Each Price Total	200	\$1.70 \$340.08	
	ACETAMIN 325MG Price Each Price Total	90	\$0.05 \$4.50	
	ALBUTEROL NEB 0.083% Price Each Price Total	300	\$0.48 \$144.81	
	ALENDRONATE 70MG Price Each Price Total	24	\$2.60 \$62.40	
	ALLOPURINOL 100MG Price Each Price Total	420	\$0.16 \$67.83	
	ALLOPURINOL 300MG Price Each Price Total	30	\$0.17 \$5.00	
	ALPRAZOLAM 0.5MG Price Each	180	\$0.75 \$135.27	
	ALPRAZOLAM 1MG Price Each Price Total	180	\$0.71 \$126.90	
	AMLODIPINE 10MG Price Each Price Total	60	\$0.09 \$5.38	
	AMLODIPINE 5MG Price Each Price Total	30	\$0.07 \$2.14	
	AQUAPHOR OIN (420 grams = 14 oz) Price Each 14 oz jar Price Total	420	\$15.00 \$15.00	
	ASPIR-LOW 81MG EC Price Each Price Total	450	\$0.01 \$4.50	
	ATENOLOL 25MG Price Each Price Total	30	\$0.17 \$5.06	
	ATENOLOL 50MG Price Each Price Total	360	\$0.19 \$69.26	
	ATORVASTATIN 10MG	30	\$03.20	

Opened:	March 31, 2014	Local		
For:	Pharmacy Voucher Program		Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmac	
6100004052		LM	315 N. San Saba San Antonio,	
Item	Description	Quantity	TX 78207 210-212-7455	
	Price Each		\$0.9	
	Price Total		\$29.4	
	ATORVASTATIN 20MG Price Each	210	\$1.1	
	Price Each		\$237.3	
	1.1100 1.0101		,	
	ATORVASTATIN 40MG	90		
	Price Each Price Total		\$1.1 \$101.7	
	The Total		#101.1	
	ATORVASTATIN 80MG	180		
	Price Each		\$1.1	
	Price Total		\$203.4	
	AZELASTINE SPR 0.1%	30		
	Price Each 30 ml bottle		\$58.5	
	Price Total		\$58.5	
	AZITHROMYCIN 250MG	18		
	Price Each		\$2.2	
	Price Total		\$40.8	
	AZITHROMYCIN SUS 200/5ML	30		
	Price Each 30 ml bottle	00	\$15.0	
	Price Total		\$15.0	
	1700 40 4040	20		
	AZOR 10-40MG Price Each	30	\$6.8	
	Price Total		\$204.2	
	Ĺ		1	
	BAYER CONTOR TES BLD GLUC Price Each	100	\$1.1	
	Price Total		\$114.0	
			• • • • • • • • • • • • • • • • • • • •	
	BAYER MICRLT MIS LANCETS	100		
	Price Each Price Total		\$0.3 \$34.9	
	, nee , otta		•••	
	B-COMPLEX /VIT C	100		
	Price Each Price Total		\$0.3 \$39.	
	File Total		ψ39.	
	BD PEN NEEDL MIS 31GX5/16	400		
	Price Each		\$0.7	
	Price Total	l	\$315.2 	
	BENAZEPRIL 20MG	30		
	Price Each		\$0.3	
	Price Total		\$9.7	
	BENZONATATE 100MG	90		
	Price Each		\$0.5	
	Price Total		\$50.8	
	BROMFED DM SYP	200	H .	
	Price Each		\$5.7	
	Price Total		\$1,150.0	
	BUPROPION 75MG	90		
	Price Each		\$0.	
	Price Total		\$67.	
	BUSPIRONE 10MG	360		
	Price Each	"	\$0.:	
	Price Total		\$75.8	
	PVSTOLIC 10MS	90		
	BYSTOLIC 10MG Price Each	90	\$2.	
	Price Each		\$240.	
			,	
	BYSTOLIC 20MG	30		
	Price Each Price Total	İ	\$2. \$81.	
	nice rotal		\$01.	
	BYSTOLIC 5MG	30		

Opened:	March 31, 2014		Local Crawford Specialty, LLC	
For:	Pharmacy Voucher Program		d/b/a Life Care Pavilion Pharmacy	
			315 N. San Saba	
6100004052	1 2	LM	San Antonio, TX 78207	
Item	Description	Quantity	210-212-7455	
	Price Each Price Total		\$2.66 \$80.2	
	Frice Total		\$ 00.2	
	CALC ACETATE 667MG	1170	60.0	
	Price Each Price Total		\$0.66 \$801.10	
	CALCET	100		
	Price Each	100	\$0.20	
	Price Total		\$20.3	
	CALCITONIN SPR 200/ACT	4		
	Price Each 3.7 ML bottle		\$98.40	
	Price Total		\$98.40	
	CALCIUM CARB 600MG	200	40.00	
	Price Each Price Total		\$0.09 \$17.30	
		200	·	
	CARB/LEVO 25-250MG Price Each	690	\$0.44	
	Price Total		\$300.19	
	CARVEDILOL 12.5MG	240		
	Price Each		\$0.18	
	Price Total		\$43.60	
	CARVEDILOL 25MG	780		
	Price Each Price Total		\$0.39 \$269.4	
	İ		,	
	CARVEDILOL 6.25MG Price Each	240	\$0.3	
	Price Total		\$82.90	
	CENTRUM	400		
	Price Each		\$0.1	
	Price Total	1	\$45.00	
	CETIRIZINE 10MG	3		
	Price Each Price Total		\$0.29 \$0.80	
		040		
	CHERATUSSIN SYP AC Price Each	240	\$0.2	
	Price Total	ļ	\$60.58	
	CHLORTHALID 25MG	30		
	Price Each		\$0.55	
	Price Total		\$16.62	
	CLINDAMYCIN 300MG	30	\$0.4	
	Price Each Price Total		\$0.43 \$13.30	
	CLONAZEPAM 0.5MG	630		
	Price Each	030	\$0.18	
	Price Total		\$110.29	
	CLONIDINE 0.1MG	330		
	Price Each Price Total		\$0.19 \$61.13	
	Trice rotal	l	Ψ01.1.	
	CLOPIDOGREL 75MG Price Each	450	\$0.5	
	Price Total	ļ	\$226.9	
	CLOTDIM/BETA CRE DIBBOR	45		
	CLOTRIM/BETA CRE DIPROP Price Each 45 grams * 1 tub	40	\$40.0	
	Price Total		\$40.0	
	CO Q-10 200MG	1250		
	Price Each		\$0.6	
	Price Total		\$765.8	
	CRESTOR 10MG	90		

Opened:	March 31, 2014	Crawford Specialty 11 C	
or:	Pharmacy Voucher Program		Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmacy
100004052	LM		315 N. San Saba San Antonio,
Item	Description	Quantity	TX 78207 210-212-7455
	Price Each		\$6.00
	Price Total		\$542.4
	CRESTOR 40MG	180	***
	Price Each Price Total		\$6.03 \$1,084.86
	CYCLOBENZAPR 10MG	630	
	Price Each		\$0.50
	Price Total		\$315.00
	CYMBALTA 60MG	450	67.0
	Price Each Price Total		\$7.2° \$3,270.19
	D 5000	100	
	Price Each	100	\$0.04
	Price Total		\$4.08
	DILTIAZEM 240 CD	30	A
	Price Each Price Total		\$0.58 \$17.34
	EAR WAX DRO 6.5% OT	15	
	Price Each 15 ml bottle	,5	\$4.00
	Price Total		\$4.00
	ENALAPRIL 20MG	720	
	Price Each Price Total		\$0.69 \$468.80
		00	,
	ENALAPRIL 5MG Price Each	90	\$0.18
	Price Total		\$15.87
	ENSURE LIQ CHOCOLAT	120	
	Price Each Price Total		\$2.30 \$276.00
	ENSURE LIQ STRWBERY	360	
	Price Each	300	\$2.30
	Price Total		\$828.00
	ENSURE LIQ VANILLA	168	do o
	Price Each Price Total		\$2.30 \$386.40
	ENSURE LIQ CHOC 4X6X8OZ	96	
	Price Each	30	\$2.30
	Price Total		\$220.80
	ENSURE VANILLA	48	60.00
	Price Each Price Total		\$2.30 \$110.40
	ETODOLAC 300MG	60	
	Price Each		\$2.04
	Price Total		\$122.30
	EUCERIN LOT Price Each 250 ml bottle	500	\$8.9
	Price Each 250 mi Bottle		\$17.8
	FERROUS SULF 325MG	240	
	Price Each		\$0.1
	Price Total		\$25.20
	FISH OIL 1200MG	90	* 0.41
	Price Each Price Total		\$0.1° \$15.5
		120	
	FLORASTOR 250MG Price Each	120	\$0.9
	Price Total		\$115.9
	FLUCONAZOLE 150MG	1	

Opened:	March 31, 2014		Crawford Specialty, LLC	
-or:	Pnarmacy Voucner Program		d/b/a Life Care Pavilion Pharmacy 315 N. San Saba San Antonio,	
3100004052				
Item	Description	LM Quantity	TX 78207	
Item	· · · · · · · · · · · · · · · · · · ·	Godinity	210-212-7455 \$5.0	
	Price Each Price Total		\$5.0 \$5.0	
	FLUTICASONE SPR 50MCG	80		
	Price Each 16 grams spray		\$11.5	
	Price Total		\$57.5	
	FOLIC ACID 1MG	30		
	Price Each Price Total		\$0.0 \$0.5	
	ELIDOGENIDE 40MC	660		
	FUROSEMIDE 40MG Price Each	000	\$0.0	
	Price Total		\$23.6	
	GEMFIBROZIL 600MG	30		
	Price Each Price Total		\$0.5 \$17.6	
			Ψ17.0	
	GINGKO 60MG Price Each	120	\$0.4	
	Price Total		\$54.0	
	GLIMEPIRIDE 2MG	30		
	Price Each		\$0.0	
	Price Total		\$1.8	
	GLIPIZIDE 5MG	150	***	
	Price Each Price Total		\$0.0 \$4.0	
	CURIZIDE VI. 40MC	210		
	GLIPIZIDE XL 10MG Price Each	210	\$0.4	
	Price Total		\$92.4	
	GLUCOS/CHOND 500-400	120		
	Price Each Price Total		\$0.3 \$40.5	
		0.40	•	
	GLYBURIDE 5MG Price Each	240	\$0.1	
	Price Total		\$46.5	
	GRAPE SEED XTRC 100MG CAP 30	60		
	Price Each		\$0.4	
	Price Total	1	\$26.7 	
	HYDRALAZINE 10MG Price Each	540	\$0.1	
	Price Total		\$92.4	
	HYDRALAZINE 25MG	120		
	Price Each		\$0.0	
	Price Total		\$9.7	
	HYDROCHLOROT 25MG	120	\$0.0	
	Price Each Price Total		\$2.5	
	HYDROCO/APAP 10-325MG	180		
	Price Each	100	\$0.1	
	Price Total		\$28.6	
	HYDROCO/APAP 10-500MG	1440	discountinue	
	Price Each Price Total			
		40	at 49	
	HYDROCO/APAP 5-500MG Price Each	16	discountinue	
	Price Total			
	HYDROCODONE-ACETAMINOPHEN 5-325 TABLET	170		
	Price Each		\$0.4	
	Price Total		\$69.5	
	HYDROXYCHLOR 200MG	30		

Opened:	March 31, 2014	Crawford Specialty, LLC	
For:	Pharmacy Voucher Program		Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmacy
3100004052	LM		315 N. San Saba San Antonio,
Item	Description	Quantity	TX 78207 210-212-7455
	Price Each		\$0.18
	Price Total	1	\$5.32
	IBUDONE 10-200MG	240	64.60
	Price Each Price Total		\$1.69 \$406.13
	IBUPROFEN 600MG	165	
	Price Each		\$0.09
	Price Total		\$14.48
	IBUPROFEN 800MG Price Each	60	\$0.12
	Price Total		\$7.14
	IMIPRAM HCL 25MG	120	
	Price Each		\$0.2
	Price Total		\$25.38
	INDOMETHACIN 50MG Price Each	90	\$0.23
	Price Total		\$20.70
	ISOSORB MONO 60MG ER	60	
	Price Each Price Total		\$0.47 \$28.15
	Price Total		\$20.15
	JALYN Price Each	30	\$7.49
	Price Total		\$224.72
	JANUVIA 100MG	90	
	Price Each		\$15.48 \$1,393.15
	Price Total		\$1,393.13
	KRISTALOSE PAK 10GM Price Each	30	\$9.43
	Price Total		\$282.88
	LACTULOSE SOL 10GM/15	360	
	Price Each Price Total		\$0.93 \$347.69
			\$647.50
	LANTUS INJ 100/ML (10 ml vial) Price Each (10 ml vial)	80	\$212.04
	Price Total		\$1,696.00
	LEVOTHYROXIN 25MCG	150	
	Price Each Price Total		\$0.39 \$58.28
		210	·
	LIDODERM DIS 5% Price Each	210	\$14.18
	Price Total	:	\$2,978.09
	LISINOPRIL 20MG	120	#0.0v
	Price Each Price Total		\$0.08 \$5.82
	LISINOPRIL 40MG	90	
	Price Each		\$0.0
	Price Total	}	\$5.9
	LISINOPRIL 5MG Price Each	30	\$0.0
	Price Total		\$0.88
	LISINOPRIL-HYDROCHLOROTHIAZIDE 20-25 MG TAB	30	
	Price Each		\$0.00
	Price Total		\$1.8
	LORATADINE 10MG	240	60.4 0
	Price Each Price Total		\$0.42 \$100.86
	LORAZEPAM 0.5MG	105	

Opened:	March 31, 2014	Local		
For:	Pharmacy Voucher Program	Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmacy		
			315 N. San Saba	
6100004052		LM	San Antonio, TX 78207	
Item	Description	Quantity	210-212-7455	
	Price Each Price Total		\$0.85 \$89.73	
	The rotal		40 0.70	
	LORAZEPAM 1MG Price Each	60	\$1.57	
	Price Total		\$94.38	
	LOSARTAN POT 50MG	210		
	Price Each	2,3	\$0.4	
	Price Total		\$86.88	
	LOVASTATIN 10MG	150		
	Price Each Price Total		\$0.38 \$57.08	
	ì		\$07.00	
	LOVASTATIN 20MG Price Each	90	\$0.10	
	Price Total		\$8.80	
	MAG OXIDE 400MG	60		
	Price Each	00	\$0.03	
	Price Total		\$1.57	
	METFORMIN 1000MG	360		
	Price Each		\$0.04	
	Price Total		\$14.40	
	METFORMIN 500MG	810	20.00	
	Price Each Price Total		\$0.03 \$22.28	
		1		
	METFORMIN 500MG ER Price Each	60	\$0.15	
	Price Total		\$8.92	
	METFORMIN 850MG	150		
	Price Each		\$0.06	
	Price Total		\$8.42	
	METHOTREXATE 2.5MG	64		
	Price Each Price Total		\$3.23 \$206.63	
			\$250.0	
	METOCLOPRAM 5MG Price Each	693	\$0.7°	
	Price Total		\$494.59	
	METOPROL TAR 25MG	120		
	Price Each	.23	\$0.04	
	Price Total		\$4.80	
	METOPROL TAR 50MG	60		
	Price Each Price Total		\$0.10 \$6.2	
			,	
	METOPROLOL 50MG ER Price Each	60	\$0.44	
	Price Total		\$26.42	
	MILK THISTLE VCAP	400		
	Price Each		\$0.1	
	Price Total		\$45.00	
	MINIVELLE DIS 0.05MG	24		
	Price Each 45 grams tub Price Total		\$16.3 \$392.80	
			ψ032.0	
	MOMETASONE CRE 0.1%	45	\$46.30	
	Price Each 45 grams tub Price Total		\$46.30 \$46.30	
		20		
	MONTELUKAST SOD 10 MG TABLET Price Each	60	\$0.3	
	Price Total	ĺ	\$22.0	
	1	I	II .	

Opened:	March 31, 2014	-	Local	
For:	Pharmacy Voucher Program		Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmacy	
			315 N. San Saba	
6100004052		San Antonio,		
Item	Description	Quantity	TX 78207 210-212-74 <u>55</u>	
	Price Each		\$0.76	
	Price Total		\$3.05	
	MYCOPHENOLAT 250MG	120	40.50	
	Price Each Price Total		\$0.52 \$61.80	
	NASONEX SPR 50MCG/AC	102		
	Price Each 17 grams tub 6 each	102	\$182.39	
	Price Total		\$1,094.34	
	NEO/POLY/HC SUS 1% OTIC	10		
	Price Each 10 ml bottle Price Total		\$32.44 \$32.44	
	ľ		\$	
	NEXIUM 40MG Price Each	120	\$12.91	
	Price Total		\$1,549.30	
	NIFEDIPINE 60MG ER	90		
	Price Each		\$0.95 \$85.64	
	Price Total		\$65.04	
	NITROFURANTN 100MG	14	\$1.56	
	Price Total		\$1.90	
	NITROSTAT SUB 0.4MG	600		
	Price Each		\$0.33	
	Price Total		\$195.42	
	NOVOLIN R INJ U-100	10		
	Price Each 10 ml vial Price Total		\$154.14 \$154.14	
		20		
	NOVOLOG INJ FLEXPEN Price Each 15 ml box	30	\$340.62	
	Price Total		\$681.24	
	NYSTAT/TRIAM CRE	30		
	Price Each 30 gram tube Price Total		\$125.50 \$125.50	
			V 120100	
	NYSTATIN POW 100000 Price Each 60 gram tube	60	\$72.50	
	Price Total	ļ	\$72.50	
	OMEPRAZOLE 20MG	180		
	Price Each		\$0.08	
	Price Total		\$13.77	
	OMEPRAZOLE 40MG Price Each	90	\$0.24	
	Price Total		\$21.88	
	ONDANSETRON 4MG ODT	60		
	Price Each		\$17.14	
	Price Total		\$1,028.16	
	ONETOUCH TES ULTRA BL	100	\$2.00	
	Price Each Price Total		\$2.08 \$208.35	
	PANTOPRAZOLE 40MG	60		
	Price Each	00	\$0.14	
	Price Total		\$8.53	
	PAROXETINE 20MG	60		
	Price Each Price Total		\$0.13 \$7.87	
			¥7.67	
	PAROXETINE 40MG Price Each	30	\$0.20	
	Price Each		\$6.03	
	PENICILLIN VK 500MG	28		

Opened:	March 31, 2014		Local Crawford Specialty, LLC	
For:	Pharmacy Voucher Program		d/b/a Life Care Pavilion Pharmacy	
6100004052			315 N. San Saba San Antonio,	
ltem	Description	Quantity	TX 78207	
item		Quantity	210-212-7455 \$0.09	
	Price Each Price Total		\$2.6	
	PEPCID CHW COMPLETE	100		
	Price Each	100	\$0.50	
	Price Total		\$56.10	
	PHENADOZ SUP 25MG	60		
	Price Each Price Total		\$16.5 \$995.4	
			\$000.1	
	PHENAZOPYRID 200MG Price Each	12	\$0.2	
	Price Total	:	\$3.3	
	POLYETH GLYC POW 3350 NF	527		
	Price Each 527 grams bottle		\$35.00	
	Price Total		\$35.00	
	POT CL MICRO 10MEQ ER	60	0.4	
	Price Each Price Total		\$0.46 \$28.6	
	DOT OF MICEO SOMEO ED	810		
	POT CL MICRO 20MEQ ER Price Each	810	\$0.46	
	Price Total		\$374.9	
	PRAVASTATIN 20MG	30		
	Price Each Price Total		\$0.6 \$18.2	
	1		\$10.2	
	PREDNISOLONE SUS 1% OP Price Each 15 ml	15	\$214.1 <u>;</u>	
	Price Total		\$214.12	
	PREDNISONE 50MG	42		
	Price Each		\$0.5	
	Price Total		\$21.3	
	PRIMIDONE 50MG	450	•	
	Price Each Price Total		\$0.10 \$60.9	
	BBOAID HEALASB	27	·	
	PROAIR HFA AER Price Each 8.5 grams bottle	27	\$77.2	
	Price Total		\$231.6-	
	PROVENTIL AER HFA	7		
	Price Each 6.7 grams spray Price Total		\$81.5 \$81.5	
			φοι.σι	
	RANEXA 500MG Price Each	60	\$7.0	
	Price Total		\$423.0	
	RANITIDINE 150MG	120		
	Price Each		\$0.0	
	Price Total		\$10.2	
	REFRESH TEAR DRO 0.5% OP	30		
	Price Each 30 ml bottle Price Total	İ	\$19.5 \$19.5	
	DISPEDIDONE 1110	00		
	RISPERIDONE 1MG Price Each	90	\$8.1	
	Price Total		\$731.69	
	ROBAFEN SYP 100/5ML	946		
	Price Each		discountinue	
	Price Total			
	SERTRALINE 100MG	60		
	Price Each Price Total		\$0.0 \$4.8	
		1	J 4.0	
	SIMVASTATIN 20MG	30		

pened:	March 31, 2014		Local Crawford Specialty, LLC	
or:	Pharmacy Voucher Program LM		d/b/a Life Care Pavilion Pharmacy	
00004052			315 N. San Saba San Antonio,	
item	Description	Quantity	TX 78207 210-212-7455	
	Price Each		\$0.0	
	Price Total	1	\$2.1	
	SIMVASTATIN 40MG Price Each	60	\$0.0	
	Price Total		\$4.9	
	SMZ/TMP DS 800-160	10		
	Price Each Price Total		\$0.° \$1.0	
			\$1. 0	
	SPIRIVA HANDIHLR Price Each	90	\$15.3	
	Price Total		\$1,379.	
	SYMBICORT AER 160-4.5	11		
	Price Each 10.3 gram bottle Price Total		\$289.5 \$289.5	
		30		
	TAMOXIFEN 20MG Price Each	30	\$0.:	
	Price Total		\$9.4	
	TENA SERENIT PAD ULT ABSB	144		
	Price Each Price Total		\$8. \$1,206.	
	THERMOPHORE PAD MEDIUM	1		
	Price Each		\$75.	
	Price Total		\$75 .	
	TIMOLOL MAL SOL 0.5% OP Price Each 10 ml bottle	10	\$13.	
	Price Total		\$13.	
	TRAMADOL HCL 50MG	470		
	Price Each Price Total		\$0. \$15.	
			\$10 .	
	TRANSFR BENCH CLASCS Price Each	1	\$95.	
	Price Total		\$95.	
	TRAVATAN Z DRO 0.004%	5		
	Price Each 5 ml Price Total		\$220. \$220.	
	TRIAMCINOLON CRE 0.1%	454		
	Price Each 454 gm	454	\$40.	
	Price Total		\$40.	
	TRIAMCINOLON CRE 0.5%	60	\$11.	
	Price Each 15 gram tube Price Total		\$44.	
	TRIXAICIN HP CRE 0.075%	360		
	Price Each 60 gram tube Price Total		\$7. \$44.	
	TUMS E-X TAB ASSORTED 96 Price Each	96	\$0.	
	Price Total		\$6.	
	VALSART/HCTZ 320-25MG	15		
	Price Each Price Total		\$0. \$7.	
	VENLAFAXINE 75MG ER	30		
	Price Each	30	\$0	
	Price Total		\$8	
	VERAPAMIL 180MG ER	60		
	Price Each Price Total		\$1 \$63	
		l	ii .	

pened:	March 31, 2014		Local
or:	Pharmacy Voucher Program		Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmac
100004052		ŁM	315 N. San Saba San Antonio,
100004052 Item	Description	Quantity	TX 78207
			210-212-7455 \$12.0
	Price Each Price Total		\$12.0 \$723.7
	VIGAMOX 0.5 % EYE DROPS	3	\$172.4
	Price Each 3 ml bottle Price Total		\$172.4 \$172.4
			·
	VITAMIN D 50000UNT Price Each	76	\$0.€
	Price Total		\$45.7
		040	
	VITAMIN D3 1000UNIT Price Each	210	\$0.8
	Price Total		\$168.1
	WOLTABEN CELAN	600	
	VOLTAREN GEL 1% Price Each 100 gram tube	600	\$59.7
	Price Total		\$358.5
	VYTORIN 10-20MG	30	
	Price Each	30	\$9.9
	Price Total		\$299.5
	WARFARIN 10MG	120	
	Price Each	120	\$12.7
	Price Total		\$1,530.0
	WARFARIN 4MG	60	
	Price Each		\$0. ⁻
	Price Total		\$7.0
	WARFARIN 5MG	90	
	Price Each		\$0.
	Price Total		\$8.7
	ZETIA 10MG	60	
	Price Each		\$10.0
	Price Total		\$604.5
	ZINC GLUCON 50MG	90	
	Price Each		\$0.1
	Price Total		\$57.8
	ZINC SULFATE 220MG	100	
	Price Each Price Total		\$0. \$3.
	File Total		\$ 0.
	ZIOPTAN DRO 0.0015%	30	
	Price Each Price Total	:	\$4. \$121.
			,
2	Medical Equipment and Supplies		
	*ATTEND BRIEF MIS MEDIUM (24 per pack)	96	
	Price Each		\$15.
	Price Total		\$60.
	5 SERIES BP MIS MONITOR	2	
	Price Each Price Total		\$50. \$100.
	Frice rotal		\$100 .
	ATTEND UNDER MIS LARGE (24 per pack)	648	
	Price Each Price Total		\$21. \$580.
			1990.
	ATTEND UNDER MIS MEDIUM (24 per pack)	80	\$21.
	Price Each Price Total		\$21. \$64.
			, , , ,
	BLOOD PRESSU KIT MONITOR	1	604
	Price Each Price Total		\$21. \$21.
		1	1
	BOOST(CHOCOLATE)	40	_
	Price Each Price Total		\$1. \$79.

Opened:	March 31, 2014		Local
For:	Pharmacy Voucher Program		Crawford Specialty, LLC d/b/a Life Care Pavilion Pharmacy
6100004052		LM	315 N. San Saba San Antonio,
Item	Description	Quantity	TX 78207 210-212-7455
	CANE ADJ LADY DRBY LILAC Price Each Price Total	2	\$25.81 \$51.61
	GLUCERNA Price Each Price Total	40	\$6.00 \$240.00
	GLUCERNA SHAKE STRAW 4X6X8OZ Price Each Price Total	12	\$6.00 \$72.00
	GLUCERNA SHAKE VAN 4X6X8OZ Price Each Price Total	24	\$6.00 \$144.00
	GLUCERNA SHK LIQ CHOCOLAT Price Each Price Total	48	\$6.00 \$288.00
	KOTEX MAXI PAD SUPER 22 CS12 Price Each Price Total	264	\$5.56 \$1,467.58
	POISE PAD MODERATE Price Each Price Total	792	\$8.26 \$6,545.80
	POISE PAD (EX-ABSORBENCY) Price Each Price Total	120	\$21.94 \$2,632.62
	SHOWER BNCH MLD ARM&BK Price Each Price Total	3	\$69.16 \$207.47
	SHOWER HAND HELD COMBO Price Each Price Total	2	\$26.62 \$53.24
	U/PD PREVAIL S/AB 30X36 PAD 1 Price Each Price Total	300	\$16.00 \$4,800.00
	U/PD QUIKSORB DLX 36X72 PAD Price Each Price Total	73	\$19.50 \$1,423.50
	UNDERPADS MIS 30"X30" Price Each Price Total	200	\$7.00 \$1,400.00
	WALKER ENVOY 480 W/BRK G07887R Price Each Price Total	8	\$190.00 \$1,520.00
	WALKR GETGO CLSS PNK Price Each Price Total	1	\$115.20 \$115.20
3	Delivery Charge Delivery Charge for District 1 Delivery Charge for District 2 Delivery Charge for District 3 Delivery Charge for District 4		\$5.00 \$5.00 \$5.00 \$5.00
	Prompt Payment Discount		2%, 10 days
	Delivery shall be made within calendar days after receipt of order		1 day
	Estimated Annual Total Estimated Annual Award		\$63,065.37 \$63,065.37

For: Automated Flood System Parts		Sole Source, Non-Local High Sierra Electronics, Inc.	
00003594	1	LM	155 Spring Hill Dr. Suite 106 Grass Valley.
item	Description	Quantity	CA 95945 530-273-2080
	9080-00 Barrier Gate Operator with 25' Wood		
1	Wishbone Arm	2	
	Price Each		\$8,590.0
	Price Total Manufacturer Name		\$17,180.0 Linear LL
	Product No		9080-
	Warranty (# of years)		1
2	9080-01 Barrier Gate Operator Interface Unit	2	60.470.6
	Price Each Price Total		\$2,470.0 \$4,940.0
	Manufacturer Name		Linear LL
	Product No Warranty (# of years)		9080-0 1
			·
3	9080-25 Replacement 25 ft wood wishbone am	6	
	Price Each		\$590.0
	Price Total Manufacturer Name		\$3,540.0 Linear LL
	Product No		9080-2
	Warranty (# of years)		1
4	5830-03 Gate Arm LED Beacon	6	
	Price Each		\$557.0 \$3.342.0
	Price Total Manufacturer Name		\$3,342.0 Alsto
	Product No	1	5830-0
	Warranty (# of years)		1
-	5310-00 ProTech Solar Panel Volt Regulator		
5	Module Price Each	8	\$37.0
	Price Total		\$37.0 \$296.0
	Manufacturer Name		HSE, In
	Product No		5310-0
	Warranty (# of years)		3
6	5315-01 Solar Charger & Load Control Price Each	3	\$210.0
	Price Total		\$630.0
	Manufacturer Name		High Sierra Electroni
	Product No Warranty (# of years)		5315-0 3
7	3701-00 VHF Telemetry Transceiver	12	
,	Price Each	'-	\$514.0
	Price Total		\$6,168.0
	Manufacturer Name		Max(
	Product No Warranty (# of years)		3701-0 1
8	6951-01 2" Diameter Galvanized Float Tube	1	
	Price Each		\$520.0
	Price Total Manufacturer Name	1	\$520.0 Omeg
	Product No]	6951-0
	Warranty (# of years)		1
_	3801-01 25 Watt VHF Power Amplifier (148-	_	
9	174 MHz) Price Each	3	\$285.
	Price Total	l	\$855.0
	Manufacturer Name		Mira
	Product No Warranty (# of years)		3801-(1
	3206-00 ALERT/IFLOWS Data Transmitter in		·
10	Aluminum Canister	2	
IV	Price Each		\$2,255.0
	Price Total Manufacturer Name		\$4,510.0 HSE, In
	Product No		3206-6
	Warranty (# of years)		3
11	7000-13 10ft. Standpipe Section	2	
	Price Each		\$980.0
	Price Total Manufacturer Name		\$1,960.0 HSE, In
	Product No		7000-
	Warranty (# of years)		3
12	7000-01 Standpipe Door with Key Lock	2	l .

ır:	ned: October 15, 2013 Automated Flood System Parts		Sole Source, Non-Local
		LM	High Sierra Electronics, Inc. 155 Spring Hill Dr. Suite 106
			Grass Valley,
ltem	Description	Quantity	CA 95945 530-273-2080
	Price Total		\$528.0
	Manufacturer Name		HSE, Inc
	Product No Warranty (# of years)		7000-0 3 v
	vvarianty (# or years)		31
13	5304-01 40 Watt Solar Panel	6	
	Price Each Price Total		\$518.0 \$3,108.0
	Manufacturer Name		Sunwize/HSE, Inc
	Product No		5304-0
	Warranty (# of years)		3 1
14	5306-01 Watt Solar Panel	5	
	Price Each Price Total		\$706.0 \$3,530.0
	Manufacturer Name		\$3,330.0 Sunwiz
	Product No		5306-0
	Warranty (# of years)		3 1
15	6600-10 15 PSI Pressure Transducer	8	
	Price Each		\$1,240.0
	Price Total Manufacturer Name		\$9,920.0 Drug
	Product No		6600-1
	Warranty (# of years)	[1,
16	6600-01 Additional Submersible Cable	800	
	Price Each (per feet)		\$3.3
	Price Total Manufacturer Name		\$2,680.0 Drug
	Product No		6600-0
	Warranty (# of years)		1 1
	6640-00 15 PSI Pressure Transducer; 0-5		
17	VDC	8	
	Price Each		\$915.0
	Price Total Manufacturer Name		\$7,320.0 Keller Americ
	Product No		6640-0
	Warranty (# of years)		2
18	6640-01 Additional Submersible Cable	800	
	Price Each (per feet)		\$2.3
	Price Total Manufacturer Name		\$1,880.0 Keller Americ
	Product No		6640-0
	Warranty (# of years)		2 '
19	3580-10 Dual-Threshold Master Controller	3	
	Price Each Price Total		\$2,970.0 \$8,910.0
	Manufacturer Name		\$6,910.0 HSE, In
	Product No		3580-1
	Warranty (# of years)		3
20	3355-06 Flasher Controller Electronics Panel	4	
	Price Each		\$3,014.0 \$12,056.0
	Price Total Manufacturer Name		\$12,056.0 HSE, In
	Product No	l	3355-0
	Warranty (# of years)		3
21	Cable Battery Cable Assembly	25	
	Price Each Price Total		\$52.0 \$1,300.0
	Manufacturer Name		\$1,300.0 HSE, In
	Product No		10-13374-0
	Warranty (# of years)		3
22	7105-04 High Gain Directional Antenna	10	
	Price Each Price Total		\$305.0 \$3,050.0
	Manufacturer Name		#5,050.0 HSE, In
	Product No		7105-0
	Warranty (# of years)		3
23	7110-10 Omni Directional Antenna	15	
	Price Each		\$95.0 \$1.425.0
	Price Total Manufacturer Name		\$1,425.0 HSE, In
	Product No		7110-1
	Warranty (# of years)	1	3
24	7150-12 Antenna Cable Set	10	
	Price Each	1 .	\$90.0

Opened: For:	October 15, 2013 Automated Flood System Parts		Sole Source, Non-Local	
400000504			High Sierra Electronics, Inc.	
100003594	1	T	155 Spring Hill Dr, Suite 106	
Item	Description		Grass Valley, CA 95945	
ite	Description	Quantity	530-273-2080	
	Price Total		\$900.0	
	Manufacturer Name		HSE, In	
	Product No		7150-1	
	Warranty (# of years)	l	3.	
25	3350-14 Combo ALERT Controller	6		
	Price Each		\$1,245.0	
	Price Total		\$7,470.0	
	Manufacturer Name Product No		HSE, In 3350-1	
	Warranty (# of years)		3350-	
	Wallality (# Of years)		3	
26	3351-01 Receives & Decodes ALERT	5		
20	Price Each	*	\$835.0	
	Price Total		\$4,175.0	
	Manufacturer Name		HSE, In	
	Product No		3351-0	
	Warranty (# of years)		3	
27	5512-00 Wattmeter; 20-1000 MHz, 50 Ohm	1		
	Price Each		\$871.0	
	Price Total		_\$871.0	
	Manufacturer Name Product No		Teleway	
	Warranty (# of years)		5512-0	
	Wallanty (# or years)		1	
28	5512-01 Carrying Case for Wattmeter	1 1		
	Price Each	1 '	\$157.0	
	Price Total		\$157.0	
	Manufacturer Name		Teleway	
	Product No		5512-0	
	Warranty (# of years)		1	
29	5515-00 VHF Antenna Analyzer	1		
	Price Each		\$407.0	
	Price Total Manufacturer Name		\$407.0 MFJ Enterprise	
	Product No		5515-0	
	Warranty (# of years)		1	
	Transmy (" or years)		i '	
	4005-01 Output Converter for Low Level			
30	Pressure	8		
	Price Each		\$110.0	
	Price Total		\$880.0	
	Manufacturer Name	1	HSE, In	
	Product No		4005-0	
	Warranty (# of years)		3	
		1	\$4,376.0	
31	ALERT PARTS (miscellaneous)		Ψ4,570.0	
	Percent of discount offered	1	0	
	Type of Price Schedule (dealer, jobber, etc.)		Customer, FOB Grass Valley-C	
	Price Schedule Number		10/8/201	
	Date of Price Schedule	1	10/8/201	
	Price schedule column on which discount is		NIAL ALLEPTON	
	based (i.e. distributor, Net, wholesale, etc.)		Not Applicable	
	Doumont Torms	1	Nint (
	Payment Terms		Net 3	
	Delivery		45-60 Da	
	Doily or y		13-00 Da	
	Estimated Annual Total	1	\$118,884.0	
***	Estimated Annual Award	1	\$118,884.0	